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1-(1DRBHFLEE(COURT )NEIE

(FHEEEENEEARRFZIT)

- Bk FBREHRHE
)= _ - iE‘n =2z
&5 t-coy) |  HHE (t-CO,) (ﬂjj%
RS EE[EAEE] 16,860 — =
SHAERE 13,342 A 3518 A 209

1—(2) $#ABEHE (COHEHE) DAER

(EEEEENESARKEEZST)

i Eé:a
o A COBEHHE (t-CO2) (gggﬁgﬁ)
e 254 i S0 HiE=E BimE
> (REF) | 45E (t-C02) (%)
& xR ik % 16,860 | 13,342 A 3518/ A 209
BRI -vtvs—
9,805 9,422 A 383 A39
(—BEZVERLNSETD)
BB -st08-%BR<
} 7,055 3,921 A 3134 A 444
£ i &

KIBRERVIBREDS, REFLTHL,
KEE T, WHABH A O—BLENIENH D,



2— (1) BERIERIHEH = (COL . H)
(FEEEEEFEEARSZZFZSE)

- COMEHHE
HHE (t-CO,) & (%)
1 AT 677.03 5.1%
2 R - ER- B 72.35 0.5%
3 REE-YHE 311.74 2.3%
4 INERL - TR 933,57 7.0%
5 NREE 63.88 0.5%
6 TDMD XL -t EHH 235.01 1.8%
7 %R MEER 10,267.53 77.0%
8 ZDth DR 97.88 0.7%
9 HEEEEANEEARR 683.38 5.1%
& &t 13,342.39 100.0%

KEFEIXIHBLHAH-HD—HLENIENH D,

2—(2) MEERFERIBEHE (COMT) WEEFL

(ErEEAHERAMEEEEL)
e éé.ﬁ
COXBEHHE (ke-CO?) RAZE IR
= (HREFEL)
M % Al — =
25?'5]%; AHAEE BiRE 1EiEE
(R¥EH) > (kg—C02) (%)
1 &R 660,817 677,032 16,215 25
2 R ER-EHES 953,650 72,354 A 881,296 A 924
3 REM-%#E 386,427 311,745 A 74682 A 193
4 INERR R 996,335 933,572 A 62,762 A 63
5 NREE 100,651 63,881 A 36,770 A 365
o TOMmOXI-RHEIER 480,881 235,013 A 245867 A 51.1
7 $FRIEER 12,111,243 | 10,267,529 A 1843714 A 152
8 FTMthdDHEE% 145,991 97,884 A 48108 A 330
| EeeEaEsEEARSR 1,023,557 683,379 A 340,178 A 332
& &t 16,859,552 | 13,342,390 A 3517163 A 209

KIBHERMEREL, dEEFHLTHEE,
KEFE. WmBABHDH=O—BLENIERH D,
XIBRIIEHDMEZRICHILDLET,




3 EBEAHIHE (COMME) wWREEFHL

EEEE&@E%AEE%E@G)
CO2EHME (ke-CO2) (gg,ﬁfﬁfg}
E B oE B ——
255 E SFAEE EEE EiEE
(HEg) | 7 > (ke-CO2) i (%)
BEXRDEA 8,042,015 | 4,435,471 A 3,606,544; A 45
maowmamERO | 1405734 | 775054 A 630,680; A5
NAEDET 19,800 4,986 A 14,814§ A 75
ERBREBOEARE :
(17as%) 0 0 0; o
ESREEOER :
(EE%) 0 0 0: Ol
—REEMOFEE| 7385747 | 8,120,121 734,374; 10|
TARIFLERANE 5,613 6,757 1,144§ 20|
LEHRDER 0 0 0; q
& it 16,858,910 | 13,342,389 0 0 off a 3,516,521§ A 21
XIEHERVIEHEL, dEEFLLTERH,
XA WBNHE-H—HBLEWNZEAH S,
» =
4 HAERHH=E
(FEEEEEHNEEABRREFLZSD)
% m CO &= 2 & HhERRIE{LRE(CO2BE
(kg-CO,) (%) BHEFED=HDEIE)
Z bR % (CO,) 13,015,628 97.55 HEHE < 1(%15)
AR (CH,) 2,792 0.02 BEHE x 25
—BIEZE %K (N,O) 321,862 2.41 BEHE % 298
70 %8 (HFC-134a) 2,107 0.02 BEH = x 1430]
7NA21b i E (SF6) - 0.00 B % 22800
& it 13,342,389 100.00

MAIHHIHE=0. —BLAEWNZELNH D,
XKHREENDELGHHERIUTOESY,

AR (CHA) - #KRNEBFZIZHTAHTK-LIRONE, BEOET &
—BIEZ2HR(N20) - —REEVORE BHOET F
7024 (HFC-134a) - A—I 73V ND{EA



